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Read the following problem:

Allthe printing presses ata print shop were scheduled to make copies of a novel and a cookbook. They were to print the.
same number of copies of each book, but the novel had twice as many pages as the cookbook. Al o the printing presses
worked for the first day on the larger book, turning out noveks. Then, on day two, the presses were split into two equally

sized groups. The first group continued printing copies of the novel and finished printing all the copies by the evening of

the second day. The second group worked on the cookbook but did not finish by evening. One printing press, working for
two additional full days, finished printing the remaining copies of the cookbooks. Ifall printing presses printed pages (for
both the novel and cookbook) at the same constant rate, how many printing presses are there at the print shop?





[image: image2.png]Number of printing presses: x. (This is what we wish to find.)
Number of copies of cookbooks printed by one printing press in one day: .
1
Number of copies of navels printed by one printing press n one day: > . (Only half the number of novels can
‘be produced each day.)
Number of copies in the cookbook job: c.

Number of copies in the novel job:




[image: image3.png]Novels:
1
Number of copies of novels printed in e day by the entire print shop: 7.

1
Number of copies of navels printed in one day by half of the entire print shop:  Tx.

113
Total number of copies of novels printed: Jrx + rx, or rx.

Cookbooks:
1

Number of copies of cookbooks printed in one day by halfof the entire print shop:  T:x.

Number of copies of cookbooks printed in two days by one printing press: 2r.

1
Total number of copies of cookbooks printed: 7= + 2r.




[image: image4.png]Sincethe number of cookbooks and novels is the same, we can equate the expressions of the totals aboveto get:
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Sincer isknownnotto bezero, we can divide both sides of the equation by r, and solve the resulting equation for x:
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Check by substuting 8 back ino the oigina equaton. The efhand sid i 7 (8) = 6r, which is caual to
the righthand side, 3 7(8) + 2r = 4r + 2r = br.

There are 8 printing presses in the print shop.





